Metric Conversions

Metric-lmperial Conversions

Learning Goal

Imperial or Metric?




Metric Conversions

Ready, Set, Google!

1) What 3 countries still make use of the Imperial System of
Measurement?
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2) Why is the Imperial System still used today?
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Precise is Nice!

E.g., Canadian Airline Mishap

The Gimli Glider
k)

E.g., Mars Orbiter Destroyed

http://abcnews.go.com/Archives/video/sept-23-1999-mars-orbiter-

destroyed-11002953
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http://www.cnn.com/TECH/space/9909/30/mars.metric/
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http://abcnews.go.com/Archives/video/sept-23-1999-mars-orbiter-destroyed-11002953
http://www.cnn.com/TECH/space/9909/30/mars.metric/

Metric Conversions

Ready to Convert? Research, first!

Find at least one, measurement relationship between a metric
and an imperial unit. l.e., What's the conversion factor?

Class List of Conversions...
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Practice some conversions...

p10 #8 to 12
p17 #11t0 13, 15



Attachments

Q Scatter plots_LoBF_Slope_Practice.pdf
Q Scatter plots_LoBF_Slope_Practice_Solutions.pdf
% gimli glider-SD.mp4



Forensic Analysis TDals

Anthropologists and forensic scientists use data to determine information about people.
Scientists can make predictions about the height, age, and sex of the person they are
examining by looking for relationships in large amounts of data.

1. Construct a graph of the length of the humerus bone vs. the length of the radius.

Length of | Length of
Radius Humerus
(cm) - (cm)
25 29.7
22 26.5
235 271
22.5 26
23 28
22.6 25.2
21.4 24
21.9 23.8
23.5 26.7
24.3 29
24 27

2. Circle the point on the graph that represents the data for a radius that is 21.9 cm long.
How long is the humerus?

3. Put a box around the point on the graph that represents the data for a humerus that

is 27.1 cm long. How long is the radius?

4. Describe the trend.

5. Describe the relationship: As the length of the radius gets longer, the humerus

6. a) Draw a line of best fit.

b) Use the line of best fit to predict the length of the humerus, if the radius is 24.5 cm long.
Did you interpolate or extrapolate?

c) Use the line of best fit to predict the length of the radius, if the humerus is 25 cm long.
Did you interpolate or extrapolate?
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7. Use two points from your line of best fit to calculate the s/ope of the line that you graphed in #1. For
tips on how to do this, see the example below.
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8. Explain what the slope of the line means about the length of humerus vs. the length of the radius.
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Solutens  Forensic Analysis T
A

Anthropologists and forensic scientists use data to determine information about people.
Scientists can make predictions about the height, age, and sex of the person they are
examining by looking for relationships in large amounts of data.

1. Construct a graph of the length of the humerus bone vs. the length of the radius.
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2. Circle the point on the graph that represents the data for a radius that is 21.9 cm long.
How long is the humerus? Q5. 2

3. Put a box around the point on the graph that represents the data for a humerus that
is 27.1 cm long. How long is the radius? 23. 5 un

4. Describe the trend.
As e i’“(.Ld;L“vS Caoq€es in %M/ S= Ao ey “{'ﬁi %04
-H{ éuatms

5. Describe the relationship: As the length of the radius gets longer, the humerus

e ok fgmao,(,
o 4

6. a) Draw a line of best fit.

b) Use the line of best fit to predict the length of the humerus, if the radius is 24.5 cm long.
Did you(ﬁfé@r extrapolate? | . . = 29 cm

c) Use the@t fit to predict the length of the radius, if the humerus is 25 cm fong.
Did youdnterpolatg or extrapolate? > <
— radius = L om
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7. Use two points from your line of best fit to calculate the slope of the line that you graphed in #1. For
tips on how to do this, see the example below.
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8. Explain what the slope of the line means about the length of humerus vs. the length of the radius.
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